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How many meters is the height of the tree?

Let's measure the height of the tree
across the river.

We know that the width of river, but there
is no bridge to get to the other side.

By measuring the angle at which you
peer at the top of tree on the opposite
bank from a distance, you can determine
its height.

As shown in the illustration on the right,

ancient lumberjacks used this method to A lumberjaek measuring

measure the height of trees. the height of a tree
[private collection]

{How to experience }

-The river is 3 meters wide.

-Look through the top of tree on the opposite bank

from the observation point.

-Find out which of the three lines drawn on the paper
the target can be seen at.

-You can find out the height of the tree from the table

on the calculation explanation panel.
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